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per instruc{@} Calculator is allowed.
N ctipn-A
{Very Short A er Questions)
Note : Attempt any two questions. Each
question-carries 7.5 marks.
2x7.5=15
1. Find a root of the eq f(x)= X’-4x-9=0
using the bisection method in four

iterations.
2. Find the form Of the function from

following given data:

0 1 2 3 4
7 | 6 | 11 [ 18] 27
- P.T.O.

6

3. Evaluate [-9X_ by Trapezmdai Rule.
; 1+ X
4. Use Euler's Method with h=0.1 to find

the solution of ¥ _x2+y?, y(0)=0 in

the range 0 <x <0.5

5. Solve by Gauss-elimination method.

2X+y+4z=12
8x-3y+2z=23
4x+11y-z=33
] Sectipn-B ;
i . (Short Answdr. Questions) /
Nute; Attempt any ohe question out of
the following three questions. Each
question carries 15 marks. 1x15=15
6. By means of Newton's divided difference
formula find the value of f(8) and f(15)
from the following table.
x: 4 5 7 10 11 13
f(): ‘a8 100 294 900 1210 2028

7. From the g, table. Find g{* at x=1.2.
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—
X Y
T
1.0 . 2.7183
1.2 . 3.3201
1.4 4.0552
1.6 | 4.9530
1.8 6.0496
2.0 7.3891
8. Using Picard's methu@ of _successive

approximation ob a -solution upto

fourth approxm@(ﬁr n of the equation.
gg =y+x @%) =
Secti
(Detailed Answer Questions)
Note : Attempt -any two questions out of
the following five questions. Each
question carries 22,5 marks.
https://'www.ccsustudy.com 2x22.5=45
9. Find a real root of the equation x3-x*-
2=0 by False Position Method.
10. Interpolate by mean of Gauss's formula
the population for the year 1936, given

the following table.
18024(CV-II1)/3 P.T.O.

Tvear (x) T population (y)
~ (in thousand) |
S | na)
| 1901 12
1911 15
1921 20 |
1931 27 |
1941 39 |
| 1951 52
1
i f the integral ,l' ax
11. Find the value of the In IQ -

0

by using Simpson’'s % and g rule.

12. \Using Rungr—K:\:ta method of fourth
dy ¥ ~x* ,

order solve dx v o+ 2 with y{0)=1 at
x=0.2, 0.4.

13. Find the solution of the system by Gauss-
Seidel Method.
83x+11y-4z=95
7x+52y+13z=104

Ix+8y+292=71
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